Paper-Maker Paper Maker 10

Directions (1-5): A=Ifaf@d STl &1 eaeTqdes 3eaas & AR QU 7T gea &
3R S

T IRaR & 376 &g 37A7d A, B, C, D, E, F,G 3R H § St U gaer AT &
IRY 3R 3T YR 98 & fF 398 ¥ IR J97 & IR el W d&d & Sidieh IR &g
AT T Yodeh TN HST3T & ALY H Jodg| AT & IRT Hledl W 9 ik A &
e T 3N 3-AT § STk AT I P & ALY IS e a1 N IR 37T B
35 ¥ Tcdh 37T ofdT doll 37Tq 14, 24, 39, 4d, 5d, 6d, 7331 83 uT WwWa &1 (&
AT IS o TR THT o F 74T §) |

C, 30 IfFd & I ¥ IR TUH W &7 &, ST doI-8 W [T &l doI-8 W It
aTell egiehed 16X T 3R 379 §IC 3R H & o dhaol & &gfeFad 95 §, st C &1 s
AT gl dol-1 W @ arell Ffadd H & 8 g ST &1 dol-5 W @A drell Iied
CGHIT Vg VA WEAT S, s EH AT 816G a7 &t H & & &7 v RAepedn
93T §1 G, do- 8 8T BT g1A, S 7% D &7 I3 ®rex & 3R do-5 W @t arel
ITFd & T shdol T hiad 8dT glA, Ear 8115 §1C, D &1 far §1 D 39 =aied
& 8 I doT §, S dA-6 W T §1G dd-6 W A8 @ &1 E ddA-7 T & ¢
E, A & 1S Th fAdhedd TSI 7T &, ST F & 5e¥ 3o of glded-2 TR TgeT arell
safed, E T Ush fehedd Tgidl 8, St H &7 97 BIdel-4 W @ drell safed, F o
T fAehedd el §1C, 3R el & &tk gt dor §1 D T Afger IF, A fr
{TeT s of g, 9T Fad te IdeT gl

Q1. 8d del W @t alel Ifad & C fohg g Fafad g7

(a) ag C&r #Arar

b) g C & 3MCr g

c) g C &l 3ol ¢

d)ag Cor Uar g

e) URa g7 frvar ST ghar &

L1Difficulty 2

QTags Rectangular/square seating arrangement

(
(
(
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Q2. AFIAf@d # & FlT Ugel I W W@l aTd eFfad & faudia faepot sor g7



L1Difficulty 2

QTags Rectangular/square seating arrangement

Q3. fFfaf@d # & &leT dol-5 X & dTel STTFd & [Ahedd TSITAAT I AT &7
(a) B, F
(b) C, E
(c) B, E
(d) D, F
(e) F, H
L1Difficulty 2

QTags Rectangular/square seating arrangement

Q4. FFATaf@a H A FlT H 3 B & 8 g a1 §, 519 B & GedT & arAEad feer

H AT ST 872

(a) C

(b) deT-4 U (g1 aTell ITFd
(c) de1-7 IR @A aTell TTokd
(d) G

(e) A

L1Difficulty 2

QTags Rectangular/square seating arrangement

Q5.B & T H, Aefaf@d § ¥ Hia-a1 I 8§72

(a) B, D &T Us fdshede sl &

(b) Te1-8 UT I@sY aTell ATFd B FI Teh [Aehedd TsIEy &
(c)B, H & & & g TU X daT §



(d) B, d1-7 9T T@aT &
(e) B39 =afad T Tsh Ahead g2y §, o ddf-1 o a1 &
L1Difficulty 2

QTags Rectangular/square seating arrangement

Directions (6-10): & 318 STIhRY T LTS eI H{ 3 QT a0 geait & 3/
¢l

3EIT-3eT TRUN H Th o9ec-3M3eye A Sirar g1 93+ o & Fo oy
GfhaT §1 30Tl TROT & IS AOIRT IHTIRRIT ST A8l ST &

1le] [3]1 [2]1] [1]e]

et 53]

3HIFT O # QU av At & 38R, fAefaf@d 9% yed # fou a1v sa/qe &

LY 3YPFd TROT A ST

1s13) 2] (2]a] [2]1] [4]3] [2]4]

Q6. TXUT 3 H YIod ar &I & JANITfehd=r g7?



L1Difficulty 2
QTags Input-Output

Q7. TROT | H YIod F&IA3HT & AT 3R 3d G WO # giod G&IA30 & IieT &
9T fFdeT 3R 72

(a) 137

(b) 127
(c) 147
(d) 137.5
(e) T3t @ IS TEl
L1Difficulty 2
QTags Input-Output

Q8. TRUT 2 H Yo HEATHT T 0T foheaTr &7
(a) 426
(b) 462
(c) 342
(d) 352
(e) 313t @ IS TEt
L1Difficulty 2

QTags Input-Output

Q9. TRUT 2 & el HEATIHT A1 AT vl §7?
(a) 18

(b) 19

(c) 16

(d) 15
(e) 20
L1Difficulty 2
QTags Input-Output

Q10.3f¢ 3ifde =ROT H e FEAT T 4 A AU HA g, A IROTA F47 gram?



(a) 18
(b) 9
(c) 6
(d) 5
(e

) 2
L1D|ff|culty 2

QTags Input-Output

Directions (11-15):

A 4T I T weeT , 3ept T quit @1 v Hepg e R § foees g
qUIT/FceRl & TR FASTT (a), (b), (c) 3R (d)fgT 1T &1 3M9hr AT A & o ard
AT # A aleT @M, i & IR el TUT quil/scieh el oY MR 3h & Heg
& 3RT dle & el wtar 81 afe 3 & Fog & f&ar = w8 daee
3T alie @ fAeftd d8 #Xar & dl 3 & §9 A (e) IR ‘97 § HIS 76 Al
gt

Digit S|7[6]12]|9]1]|3
Symbol [ N |[&|# |+ |*|A|W| @ |3

o
N

Feded HA & AT o -

(i) afe gger 37 @ Bar AR 3ifae 3w faww §, aF ggar 3R 3ifaw 3/ & Fo @
3T9E F FEa S gl

(if) afe ggelm @Y & |y A a0 §A §, o &l & FHel Pl Ugel 37h &b H &
®q H FHeaey far S g

(iii) afe ggerm wrr & @y 3ifAF 37 Qv §, ar Qi &t 3ifAA 376 & Fe F T A
Fedey faar Siar Bl



Q11. 1111993
(a) AAAA**%

(b) BAAAN*%

() AAAA%%A

(d) BAAA**%

(e) BT & FIS Ter
L1Difficulty 2
QTags Reasoning

Q12. 972486
(a) #&+$@#

(b) *&+@%#
(c)*&+$@#

(d) *&+$@*

(e) 3T & HIS Ter
L1Difficulty 2
QTags Reasoning

Q13. 857624
(a) @N&#@+

(b) @N#&+@
(c)@N&#+$

(d) $N&#+$

(e) 3T & HIS Ter
L1Difficulty 2
QTags Reasoning

Q14. 634567
(a)&%IN#&
(b) #%$N&#
(c)&%SHN#
(d) &%$N##



(e) 3oTH & IS el
L1Difficulty 2
QTags Reasoning

Q15. 178524
(a) A&R@NS$+

(b) A&@N+$
(c)$&@N+$

(d) A&NN+$

(e) g1 | FIg +Tel
L1Difficulty 2
QTags Reasoning

Solutions
S1. Ans.(b)



C E
[5th
: ‘T‘ (2nd)
Gy |
—IF
| (8th)
s
A
[1st]) % g
(6th) o
(|}[+] H(-)
A(+) ——E(+)
F(-)
C|(+] B(-)
Sol. PO
S2. Ans.(a)
(7th)
C E
[5th] ‘T‘ {2&1 !
ey |
—5F
| {8th]
4
A
[1st) & <
(6th) o
G(+) H(-)
A(+) —E(+)
F(-)
"3|(+] B[-)
Sol. ()

S3. Ans.(c)



C E
(5th) ‘T‘ lzl.:““
ey |
—SF
| {8th)
'
A
[1st]) % <
(6th) o
(|}(+] H(-)
A(+) ——E(+)
F(-)
C|(+] B(-)
Sol. P0)
S4. Ans.(e)
[7th)
C E
[5th] ‘T‘ lz&‘d]
el |
—5F
| {Bth]
v
A
[1st) % <
(6th) o
G(+) H(-)
A(+) —E(#)
F(-)
C|(+] B(-)
Sol. ()

S5. Ans.(e)



[7th)
E [Znd)

N i\ /G
I
. —1>F
[aﬁif_ (8th)
|
A / % [En]
[1st]) (6th)
Gl+) H(-)
Al+) E(+) F(-)
C(+) B(-)
Sol. PO
S6. Ans. (c)

Sol. For step-I, both the digits of 1*' block is written as, Ist digit of block-1 of the
Input is multiplied with 2" digit of block-4 of the Input same as 2"digit of block-1 is
multiplied with 1°* digit of block-4. This process is same for Block-2 and Block-3 in

step-1.

For step-Il,All 1* digit of each block is added and that sum is written in 1* block and
all 2" digit of each block is added and that sum is written as 2™ block.

For step-Ill, Half of the addition of 1 and 2" digit of each block.

For Step- IV, Difference of both numbers of Step-3.

So,



Step 2 [1]e] [2]2]

Step 3 [35] [ 2 ]
Step 4
S7. Ans. (a)

Sol. For step-I, both the digits of 1*' block is written as, Ist digit of block-1 of the
Input is multiplied with 2" digit of block-4 of the Input same as 2"digit of block-1 is
multiplied with 1°* digit of block-4. This process is same for Block-2 and Block-3 in
step-1.

For step-Il,All 1°* digit of each block is added and that sum is written in 1°* block and
all 2" digit of each block is added and that sum is written as 2" block.

For step-Ill, Half of the addition of 15 and 2" digit of each block.

For Step- IV, Difference of both numbers of Step-3.

So,

[2]1] [4]3] [2]4]

Step 2 [1]e] [2]2]

Step 3 Gs] [Z]

Step 4

S8. Ans. (d)
Sol. For step-l, both the digits of 1 block is written as, Ist digit of block-1 of the
Input is multiplied with 2™ digit of block-4 of the Input same as 2"digit of block-1 is



multiplied with 1°* digit of block-4. This process is same for Block-2 and Block-3 in
step-1.

For step-Il,All 1* digit of each block is added and that sum is written in 1* block and
all 2" digit of each block is added and that sum is written as 2™ block.

For step-lll, Half of the addition of 15 and 2™ digit of each block.

For Step- IV, Difference of both numbers of Step-3.

Stepl

Step 2 [1]e] [2]2]

Step 3 [35] [ 2 ]

Step 4 1.5

S9. Ans. (b)

Sol. For step-I, both the digits of 1* block is written as, Ist digit of block-1 of the
Input is multiplied with 2" digit of block-4 of the Input same as 2"digit of block-1 is
multiplied with 1°* digit of block-4. This process is same for Block-2 and Block-3 in
step-1.

For step-Il,All 1°* digit of each block is added and that sum is written in 1°* block and
all 2" digit of each block is added and that sum is written as 2™ block.

For step-Ill, Half of the addition of 1 and 2" digit of each block.

For Step- IV, Difference of both numbers of Step-3.

So,



Step 2 [1]e] [2]2]

Step 3 [35] [ 2]
Step 4
S10. Ans. (c)

Sol. For step-I, both the digits of 1*' block is written as, Ist digit of block-1 of the
Input is multiplied with 2" digit of block-4 of the Input same as 2"digit of block-1 is
multiplied with 1°* digit of block-4. This process is same for Block-2 and Block-3 in
step-1.

For step-Il,All 1°* digit of each block is added and that sum is written in 1°* block and
all 2" digit of each block is added and that sum is written as 2" block.

For step-Ill, Half of the addition of 15 and 2" digit of each block.

For Step- IV, Difference of both numbers of Step-3.

So,

[2]1] [4]3] [2]4]

Step 2 [1]e] [2]2]

Step 3 [35] [ 2]

Step 4

S11. Ans.(d)
Sol. Condition (iii) applies



S12. Ans.(c)

Sol. None of the conditions are applied.

S13. Ans.(e)
Sol. Condition (ii) applies

S14. Ans.(d)
Sol. Condition (i) Applies.

S15. Ans.(b)
Sol. None of the conditions are applied



